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Stretch or Shrink?

By how much?

Growth or Decay?

Reflection or no Reflection?

Horizontal Shifte

Vertical Shifte

Asymptote?e

y-intercepte

Stretch or Shrink2
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6) What is the equation of the graph?

P

A.y=2(
B. y=2(

C.y=-2 %)x—z
D.y=2(§)x—2

) -2
) +2

+

Blw bW

7) What is the equation of the graph?

C.y=23)*-2

D. y=-23)*-2

8) Describe the transformations of how f(x) = 5 would
change info f(x) = 5% + 1

9) How is the graph f(x) = %x would change into
1x—5

fx) =2

10) What is the y-intercept of y = %(Z)x — 69

11) Write the equation of a function that is a decay
with a base of g a asymptote of 4 and a right shift of 3.

12) What would be the equation of an exponential
function that is a reflected growth function by a base
of 3 that is shiffed up 5 and right 22



